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QUESTION 1

Which level of data protection can be configured across sites in a VxRail Stretched Cluster? 

A. RAID 1 

B. RAID 5 

C. RAID 1/10 

D. RAID 6 

Correct Answer: A 

 

QUESTION 2

When does vSAN deduplication occur in a VxRail cluster? 

A. During writes from the host to the cache tier 

B. During destage from the cache tier to the capacity tier 

C. During writes from the host to the capacity tier 

D. During destage from the capacity tier to the cache tier 

Correct Answer: B 

 

QUESTION 3

DRAG DROP 

What is the order of steps to generate the SolVe procedure to add a capacity drive to a VxRail node? 

Select and Place: 

Correct Answer: 
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QUESTION 4

A VxRail Stretched cluster deployment with eight nodes at each data site is being proposed. What is the latency
requirement between each data site and the Witness site? 

A. Less than 5 ms 

B. Less than 10 ms 

C. Less than 100 ms D. Less than 200 ms 

Correct Answer: C 

 

QUESTION 5

When needed, the vSAN might also break large objects into multiple components. What is the maximum size of a
component? 

A. 63 GB 

B. 127 GB 

C. 255 GB 

D. 511 GB 

Correct Answer: C 
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